Warm Up 10/9/18

Complete the following on an index card:
(#1 on the front, #2 on the back)

1. 5x -m) < 78
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Words for each
inequality symbol

< (less than) = (equal) > (greater than)
is less than is / are / will be /only more than
IS under is the same as above
is below that is equal to over
shorter / smaller than exactly greater / larger than
fewer than half (=.5"or%"*) exceeds / increased
is lower than longer than
beneath is higher than
a better deal

< (less than or equal to)

# (not equal to)

= (greater than or equal to)

at most

is not equal to

at least

maximum

is not the same as

minimum

bottom

is different / differs from

top

is no more than

is no less than




Translate the verbal sentences into an algebraic inequality.
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Write an inequality and solve the problem algebraically.
ot > f pwit-
1) The/product oand x isfgreater thalysixfmore tha 'thq proEuE_f}Pfd X.




2) Joan needed buy a graphing calculator for her math class. Her neighbor will pay her

@m to babysit@her father gave heror cleaning her room. What is the
minimumfamount of hours she will need to babysit in order for her to buy her calculator?

ol X = hoors

Jnaximum amount of hours the DJ will play at the dance?
X =hovurs
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4) Theflengthof a rectangle i@r@ts&idth. Theof the

rectangle is eters.'—Find the greatest possible dimensions
of this rectangle. P= 2L + 2W

w=width aow |2w < |0
Hw = gt 5w )1Z- Iz
width 9m (%\ W= 9

length 45

5) The cost per month of making n number of wooden toys is C = 3n_+ 30. The income from

selling n toys is | = 6n. How many toys must the company make to get a profit (I > C)?

ON> 24430 TNore.

-2n - N M
EIAWAR

|
3 =3 a—o%
N> 10 =




